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PRACTICE SET-1 
11. 

(a) (b) HoTHTT (a) (b) 374T 

(c)hT (d) qHTH (c) 5 

12. 

(b) HT fTI 

(c) 7 3477 

3. fufer 4Tt f had ? 

(a) T (b)tT 

(a) qT (b) 7H5 (C) HTHTHI 

(c)C (d) y5 14. 

aTHTE TaTaTai yTa a? (a) 51414 (b) t7 TAT 4. 

(a) c54T (b) IR (c)HhT (d)T 

(c)T (d) THT 15. 3:' T TAATf TzaTHTg? 
(a) 7T (b) T 

(c)RUTH (d) 

(i) RT 16. 

(a) hit (b) 

(ii) Ta (c) 4 (d) HferUT 

17. (iv) 67 

(v) 3HTte TR HT4TT5 NT (a) ft b) fr 

(Vi) HT (c) fai (d) 

(a) ii. ii. v, iv, i, VI (b) v, ii, ii, iv, vi, i 18. 

(c) ii. v, ii, iv, vi. I (d) iii, v, ii, i, iv, vi (a) t 5 aEd sTR U T I 
6. 

3A CFT 
(a) HTH (b) T 

(d) 3fm 19. (C) 74 

(a) ET (b) Ia (a) le75 (6) HTqCTT 

(c) 
(d) aT4r (c)aTE5 (d) HHETT5 

. 20. 

(b) (a) HrUT a7 (a) H 
c) f41 aA 

. 
(C) T 

(a) farmeru (b) HTH 

(c) 37TTTUT (d) ia 
21. 10. 

(a) Hf (b) 47 (a) 3HTf (b) refaa 
(c) 34145 (d) faufr 
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22. 

(a) 3ATET T TIA- TET 35 H 36 Th 3 tTT 
(b) 

(c) (d) 374 
23. 

a) fasTy (b) fa 
(c) (d) 307 

24. 

(a) (b) 
(C) 3HT (d) 

25. 

a) (b) : 
() d) : 

(a) (b) f87 
(c) (d) TTA 

35. 

(a) he (b)afe 
C) Chri d) fT 

28. Ea a 37 7 EAT? () STT T 
(a) T -T (b)z aeI 

(d) T AT 36. 

(a) Hur (b) RHTA 

(a) (b) 516 AT 37. 
(c) (d) Ty fuf (a) f 3yA (b) 

(c) T3yAY (d) HEr4 3YfA3 
(a) (b) r7 38. 

(c) (d) r (a) TA UT5 (b)afaRT 31. f AT 'IATH' ifI fae ? (c) T4 

(a) 3+ ATH (b) 3+ AIH 39. 

(c)3 +H (d) 37+ TATH (a) afe 
(b) 

(c) hTiT 
(d) 

(a) (b) 40. 

(C) (d) 
33. frm À A 7UUra THTH ? 

(b) a47 
(d) -TE 

(a) (6) TE TH IH 
(c) 4I^ 

41. 34. f T'TYdT TataTft ia t? 
(a) (b) CEH (a) qyTU 

(b) 3HEHTTa 
(c) 4Tfa (d) T (c) TT 

(d) ET 
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(a)5. H. R 

(bsi. T7 

(c) 3T. . ATR. 3As45 
(a) Ta 3AT (b)374HT T5 

(d) T 
(d) z FUHTETt 

(c) TE-HE7 
43. 

(a) 1939 (b) 1949 

(c) 1959 (d) 1969 

(a) 3 -13 
(c) R-15 

44. TRA TOH ychR Mhda? 

(b)3 -14 
(d) 3 -17 HT ? 

(a) 1921 b) 1931 

(c) 1941 (d) 1951 (a) ya b)Tpufa 55. 3TATT HU I HT RT? (c) fi (d) HTE 
(a) 3ta (b) 45. 
(c) T 

(a) HTR TT4 

(b) RT 5 TETATINT 

(c) H 
(a) 0.5 b) 0.3 

(d) c THT 
(c) 0.1 (d) 1 

46. 

(a) TTAM T-T (a) (b) 
(c)T74HT (d 

(c)T4T TT zMATT TET 58. 
(a) HI_etT (b) HT4TGST 

(b) Tav 
(d) fTaT 

(a) HTTST 59. 

(c) HTTsiT (a) ita (b)aTRE3 
(C)t (d) af 

f t TTTi ? 60. 

(a) H b) 7ch 

(c) qrrET (a) faefamC (b) faeiK 
49. 4T à faa ? (c)faefaE (d) faefa B12 

(a) 26 (b) 27 

(c) 29 (d) 28 
(a) is4 (b)efRT S0. TA fa T Faifea aui ard ? 
(C) (d) iT4 

(a) HT (b) 79KT 
62. 

(c) rE (d) ht 
(a) HI_HTHTT (b) 51. 7UTAuaT 3rT T TETT 3ATETTÍRA HTaTST UHe| 

(d) 9 (c) 

63. 

(a) l100101 

(c) 1101001 
(b) 1100111 
(d) 1101011 
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64. zatA" TE aTAT fH ai at? 75. fRT HET3A 7 87 I FA 

(b)st. uafea Bfa7 

65. (d) a AT3A (a) 26 (b) 28 

(c) 29 (d) 30 

faa? 76. 

(a) 37H4 
(b) te5 

(C) 
(d) 3sHT 66. 

(a) 2 (b) 3 
3R 3afAT aT? (d) 11 

(a) TA AA 

(C) 3THE fARTH 

(c) 7 

77. reT TTH THTUTC (HCF) FTA 
TT5 54T: 2, 3 st 5 af sifra 4T 

(b) HTTAA ARTA 

(d) f95 fTT 
67. 

(a) 650 (b) 675 
(a) Ta 

(b) T 
(c) 725 (d) 37 7 

(C) I 

3TIST. 
af 4 t, x=? (d) fAraT 

68. 

(a) 9 5 
(a) 

18 
(b) TSRT (b) 

19 (C) H6RT (d) HeaET 
69. 

d) 
11 

79. f A aT B T 20 fea I 7 H , 
3 10 ai faT FaT T B T 25 

f f TT B c T T faà fa 

(a) fahH TTHT 

(c) H. 9474 

10. 
(a) 25 f (b) 30 a 

(a) HIT E4IT b)4f f4f 
(c) 35 f 

80. 7f =y +z, =x+z 3tz=x+y, a 
(d) 3 T T (C) T H5R 

11. 
(a) TH 3ET 

(c) ffersr 

(b) fT RTTrNT , Ty, 1z. T 
(d) fm faenr4 3fe6 (a) 0 (b) x+y + z 

(d) xyz 12 (c) 

(a) 12 HG, 2005 (b) 12 HG, 2006 81. u UA TUT 5. 10,00,000 a 7 TE 
(C) 4 AAR, 20005 (d) 12 4, 2006 

13. 

'(a) aT 
(b) farHa 7, 90,000 aifA aidt 
(c) AH H 790,000 aif BT 

(d) 3h T (c) 7tT5 2 

14 
(a) TavE 

(b) T4f 
| 82. g7 20 eieT uAf aTT ufEAT 4 TS 

(C) 3q 
(a) 28.8 

b)14.4 
(c) 1.44 

(d) 2.88 
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12 

a 7 T 

T80% I 3H TUT 12 
T fti a TAT fT Tu, farë T 

hT T 85% I T? (a) 20 * b) 16 a 
(a) 6 fFae7 (b) 2.4 f4iea 

(c) 14 a (d) 18 
(c) 6.4 faree (d) 4 faza 

CF) FTA aÀ 
u? 
(a) 36 faTe (b) 44 f4e 

(b) 
3 

(a) (c) 45 f-T (d) 3 T 

13'97' 
162 3ufri T u (C) (d) 5 93. 

85. (476+424)*- 4x476x424] = ? 

(a) 2906 (b) 3116 

(a) 32 16 2 

(a 13 97 577 
(c) 2704 (d) 2904 32 16 8 2 

)9757 13 7 
86. T ATH 

(c)28 16 32 

(1 5797 1000000 16 2 32 8 

d)77 97 13 
H A 3T 37ura 3:2 TI 20 3r ysi z 3T3ga 
7T B 3RT 25 (a) 4.08 . T. (b) 40.8 T. T 

(d) 804 . 
37 TATI faai ii eT fhat st? 

T f fe (c) 408 T. T 
(a) 16 (b) 24 

(d) 40 

TOT 80 3HTHTET TAT TT 45 

(c) 36 0.1 +(0.2) +(0.3)-(0.2)0.3) 
(0.1+(0.2)* +(0.3 -0.02-0.06-0.03 

87. 
95. T 3TAATAIT 

eTeter ar_T I 3 . t. x 3 *. t. aia- A (a) 0.1 x 0.2 x 0.3 (b) 0.1 +0.2 +0.3 
+y, (c) 0.1 +0.2 -0.3 (d) 0.1-0.2 +0.3 

(a) 10000 (b) 15000 (b) 54 qter 

(d) 60 q e 

(a) 70 a ier 
(c) 20000 

96. v TtNT 40% TUa 3uf a , 
30% 3tft 3rrtui d air 10% a * 

d) 20500 (c) 64 e 

89. yAforai aa v MsiuTT 10% 

cAT 62% a fHaT, 21600 Tat faTai 3TI 

(a) 30% (b) 40% 

(a) 41600 (b) 60000 (c) 50% 

97. f TT t aa 10% 4 T TT, at Tfauft grT (C) 90000 (d) 100000 

90. TT srt a à reT, f 2, 3, 4,5, 6 

T 4 YE 
(a) 10% (b) 11% 

(a) 1260 
(c) 1259 

(b) 1261 

(d) 1265 (C) 11% 
9 d) 9 
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98. af tane = 2sin 6 cos8 
4T T 13 cos -sin*0 

248 
(a) 

25 
13 (b) 
144 (a) r 

48 
(C) 

125 
(b) 2.8% q (d) 
(c) 2.8% 5T 

99. 75+V3 

7-4 7a + V3h , a 

(a) a> 3.b> 47 (b) a= 27, b= 1 
(c) a= 1, b = 27 

100. af fat erfT I 5% aTftG HM ZT aT| 3 a T a E1,200 , i 3et TfT 3iT| 

(d) a= 47. b>y3 

(a) 15 (b) 16 

(c) 19 (d) 25 

fAVT (U TT 108 110) fau qU= 
(a) 5. 1,265 (b) T. 1,263 
(c) . 1,261 (d) 1,260 

150F 
(a) 32 (b) 16 
(c) 58 (d) 104 T100 B 

102.T 308.528 o0.006756 

4484.612 oc0.8891 
S0 

(a) 0.06 (b) 0.006 
(c) 0.0006 (d) 0.6 EJUE 

103. Hfafea i d A- HÀ TEI ? 108. A B ai aT 3T 7 t T T RT at? 

., (a) 100 f. t. (b) 50 f6. 
C) 40 f. (d) 

(a) 3222 (b) 3222 

(d) 323 

104. fAafea i a� I T? 

(a) 100 f. 
(c) 250 . t 

(c) b) 150 . . 

(d) 300 . t 

(a) 65 f5. t/zET (b) 50 f. t./aeT 
(c)45 f. 4t./iET (d) 37m 

(b) (a)12 111. (a) KMPT (b) NPSw 
(c) DFOU (d) DFIM 

(c) d) 
12 112. (a) fa 54TUE 

(c) h 
113. (a) 183- 54 

(c) 99-63 

(d) E 
(b) 243 132 
(d) 108 -97 

105.aia HET TT HHTYar 23100 7T 

3T 770 , aivN EI TATfa7 HA 

(a) 15, 90. 165, 825 

b) 15. 75. 180, 825 114. ABDG : ZYWT:: BCEH:? 
(C)15, 75. 165. 425 (a) YXTS b) QPRU 

(d) SVXY (d) 15, 75. 165, 825 (c) YXVs 

4 



15. Ta: HE6T::? 

(a) HTET 

(b) 54T: T 

121. 

|144 25 13 

29 15 

324 ? 19 
(b) 41 

196 

(a) 29 (d) : thoy 
39 (c) 37 (d) 

116. 23: 0827:: 45:? 

(a) 12125 (b) 12025 
(c)64125 (d) 08125 

117. TpT: 

A' nt 03, 44 3Tf 3TT aTtaT TT F TT Q' 

55, 78 Tfe I avrtaT T HAT 3e 7 À ATYT 

3R TtAT: 

122. RETAIL 

HTE-I 
12 3 4 

M ORAL 
(a) (b) c) (d) 

118. 3TT: 
1 0 R A L M 

A LMO 
3A L |MOR 

4 L M O RA 

11L 

. . 

3ATE-II 

s6 7 89 
5 Q U |I |E 

6 UIE TQ 
71 ET U 
sE T UI 

9 T Q UI E 

E E 
(b) (c) (d) (a) 

t? 

t./TeT 
a y aT 5 ad a at, at TT adATa| (a) 20, 85, 77, 21, 57. 13 

fai (b) 20,77, 85, 21, 13, 57 HT aT ? 

(b) 34 (c) 77, 21, 20, 85, 57, 13 
(a) 40 

W (d) 30 (d) 77, 85, 21, 13, 57. 20 
(c) 35 

T 

STPQTSPTRPTSRPSTQPTRPTM 
PTS 

120. 
32 

(a) 7 T8 (b) 
3 30 

68 
(c)a (d) i 

124. fffsa à -T 3Ta si«7, fast 
(a) 131 

(b) 129 

(c) 130 (d) 128 
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(b) O 

( 
(a) 

(O)O (c) (d) 
131. 7 3HThti 

M 125, BHASHA 154754 6 U Ar BRAIN 13408s 5 ia TTT, AHINSA a fT TUm? (a) 405847 
(c) 450874 

(b) 450847 
(d) 458074 37 31T5frat N 126. AA fah 

(a) (b 
1. 3ATC5A 

2. Hy 
3. ehcA 

4. 197AT 
(c) 5. f 

(a) 5.2. 4. 3. 1 
(C) 1,4, 3. 5, 2 

127. 

(d) 
(b) 3. 1. 2, 4. 5 
(d) 3. 4. 1.2.5 

132. A 3AT T Ba3T Tafs C 3T D aE ar 3 HT 10 . aaaT, fT arai 3it YHT 30 ti. TI 3U qrfi R 25 t. 
(a) A (b) D aTt 3TR TET 40 . TI E Ha 3YA (c) C (d) B 

(a) uT -
(b) 3 

(c)3-yfeH 
128. 133. 7 3Tp 

fT. À aTE aifgà yss 15 fut. arrt 3ATT f aife gT 15 ft 3tT aT F 

3R HTtrai 
Tf? 
(a) 30 fET 
(c) 25 fET 

(b) 35 f4t 
(d) 20 f 

(a) (b) (c) (d) 129. 

134. AZWD, CXUF,_?_, GTQJ. 
(a) EVSH (b) EVPI 

(b) 1 (c) EUTH (d) EUSH 
(a) 
(c) 4 (d) 2 

135. 3, 17, 45, 87, 2 130. 
(a) 123 (b) 143 
(c) 183 (d) 153 

136. X t a Y aga 3T Y Te Z l 
u PT sT O fuTY TTar P aT 0* 

RT ? 

(a) T 

frat 
(67)-(8 9)-(10 x 11) =? 

(a) 33 (b) 52 

(c) 6A (d) q 
(c) 224 (d) 04 
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faPTEATHT GAMBLE FBLCKF | 145. aift dtarr ai 7 H4 7 uET 40 f4H 

faTTTI 3H FLOWER 

(b) GKPVFQ 

ETU 4 HUE Et at , a 2 
(a) GMPVDS 

(c) EMNXDS (d) EKNVDQ 

(a) 14 Eu2T 9 f4A 40 HhUS3 

(b) 14 quei 10 f-e6 45US 

(c) 14 7UET 9 HAZ 38 T5US 

138. PERAMBULATOOR 

(a) RAMBLE b) RAMPANT (d) 14 EquT 10 fuAZ 42 T5U 

(c) MARBLE (d) LAB0UR 146. aR E TAMILNADU 
387241859 fMar 

139. ORGANISATION , 34 e DALMIA e? 

(a) ORGAN (b) ORATION 
(a) 548728 

(b) 587428 

(C) NATION (d) ORGANISE 

140. TT HEIN A4 a ai ? 
(c) 584278 

(d) 584728 

3153 59_11 
147. 'x' 1 37 4TT +' 377 HT, ''T 

(a) 7.7 (b) 6,6 
372TUT 7AT + 31 T, a (14- 

(c) 8.7 (d) 7,6 
6+18)x6 5 HT 

(a) 107 (b) 17 

(c) 104 (d) 15 

-qpx rq- XXr - pX qp - x 

(a) rSqpx (b) pxrqN 

(C) xrpr (d) rxpqrX 
(c) 377 tATR 5 TET (d) 344T I 

afota ? 

(a) TH 
(b) h 

(c)fra (d) 

AT 27ai arire a aa-T fa 3TuaT? 
(C) 3TH THIÍSTE5 THT4ITA 

(a) AT4aT 
(b) TeR 

(c) h 
(d) zfaa 

HTT 3ATTit a 

(a) 44 (b) 49 

(c) 
(d 54 52 
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